35

30 tUbutbdbootdbbotdtd

3.1 JOooon

o000 (Q,F/,P)000000O0ODQO00OO0O0O0OOOOUOOOOO
gboobooboobobobooobobobooobobooboboonoo
gbobooboooooboboooboobooooboooooon

00 3.1 0000000 X, Y OOUODOUODODODOoOODOoOOOoOO A, BeBO
goo
P(XeA YeB)=P(XecAPY €B)

000000000000 n000000 Xy,...,X,0 00000000
00000000 A,...,A,€B0000

n
P(X1 € Ay,..., X € Ay) = [[ P(X; € 4))
j=1
000000000
00000000 {X,»AeA}0OODOODOOOO0OOOOOOO0O0O0OO
0 X,,...,X,, 0000000000

03100000 ABeFO OOOOODOOOOOOOOO 14,10
00000000 14,1p0 00 1000000000000 0OO0O0OA,B
00o00oouogd e,bef0,1} 0000

P(ly=a,1p=b)=P(ls=a)P(lp =b) (3.1)

000000000000001,4=1-1,00000000000 P(AN
B)=P(A)P(B)000000000000000000
000000000 »0 300000

P(A1NAsN...NAy) = P(A)P(Ay) - P(Ay) (3.2)
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gbooboooobono {Aj}?zll:JDDDDDDDDDDDD (3.1) 000
oo
P(lAj:aj>j:1,2,...,n):HP(1Aj:aj)
j=1

00000 ay,a0,...,a, € {0,1}00000000000000000
A,B,cO0O0OO

P(ANBNC)=4%, PANBNCe) =2,
P(ANB°NC)=4%, PANB°NCe) = 5,
(
(

2
P(A*NBNC) =1, PA°NBNCe) =1
P(A°NB°NC) =%, PA°NB°NCe) =

o=

000000O0P(4) = P(B) = P(C) = 1 0000PANBNC) =
P(A)P(B)P(C)0DDO0A,B,COO0OOOOD

00 3100000 X,p,...,X,000000000000000000O
oooooooo
gcoooopooooogg f,...,f,0000

n

E[f[ Fx)] =TI ElF(x)] (3.3)

Jj=1 Jj=1

gooooooobooon

ol doboobobooboon Al,...,AnDDDD[Ifj(w)zlAj(w)
000000000 00ooo0oooooUoD (3.3)00

E[H 14, (X)) = H Blla,(X;)] = H P(X; € Aj) (3.4)

goo

goo
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0Do000X,...,X, 0000

ooooo0X,....X, 00OODOOOOOO0OOO0OO0O00O00000000
Ay,...,A, 0000 (34) 00000000000 f;, 000000000
ooQ

Nj
w) = ZCE@J)IA,(CN((U)
k=1

0000000 (3.3)0o00oooooooooo

2
2

1 n

B[l 5] = E_H 1 ¢

- o II(§?£W1§;(A;H

0D ;0000000 f ~f,0000000000000000000
ooooooo

E[H L)) = lim BITT A7 (X))

Jj=1

= 1im [ B[ (X))]
j=1
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uoboooboobooboooon ijDDDDij:fj*—f;DDD
oood

j=1 j=1

e1=+1,—1  e,=+1,—1

= Y Y aea LB

e1=+1,-1  ep,=+1,—1 j=1n
= [ El(x)]
j=1
0000 8.1 X, YOUOOOOUOOOOUOD fx(z),fy(yy DOOOOD

IWXW€m:Lh@h@M@ (3.5)

Oo00020000000 BOOOODOOOOOODOOOODOOX O
Oo00oo0 e>0000000000YDOOOOOD p>0000000
ooooox,yoooooo

P(X<Y) :/ ae*‘”/ Be~PYdydx
0 T

gooboooooboooboooobooooboobooooboooooog
(3/5) 000000000 DO(BUOOOUODOOO



